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QUESTION 1
8.26 x 76.8 =

A. 6343.68

B. 63.4368

C. 634.368

D. 634,368

E. 6.34368
Correct Answer: C

Explanation: Remember that since the terms of the problem have three units to the right of the decimal point, the
answer will as well.

QUESTION 2

Which of the following numbers has the greatest absolute value: 17, -9, 15.5, -20, 19?
A. -20

B. 19

C. 155

D.-9

E. 12

Correct Answer: A

Explanation: Absolute value is the number of integers away from zero, so the absolute value of -20 is greater than the
absolute value of 19 by one unit.

QUESTION 3

A number is multiplied by 6 and then has 4 subtracted from it. The answer is 14. Which of the following equations
matches these statements?

A.14=4-6x
B.4x-6=14
C.6x-4=14

D. 6(x —4) = 14

PRAXIS-MATHEMATICS-SECTION VCE Dumps | PRAXIS-MATHEMATICS-SECTION Exam Questions |2/ 3
PRAXIS-MATHEMATICS-SECTION Braindumps


https://www.geekcert.com/praxis-mathematics-section.html
https://www.geekcert.com/praxis-mathematics-section.html
https://www.geekcert.com/praxis-mathematics-section.html

VCE & PDF https://lwww.geekcert.com/praxis-mathematics-section.html
2024 Latest geekcert PRAXIS-MATHEMATICS-SECTION PDF and VCE

GeekCert.com dumps Download

E.-6x=-14
Correct Answer: C

Explanation: In this equation, the order of operations will dictate that the multiplication takes place before the
subtraction.

QUESTION 4

Albert is driving at 80 miles per hour. How far will he go in 45 minutes?
A. 60 miles

B. 45 miles

C. 80 miles

D. 180 miles

E. 90 miles

Correct Answer: A

Explanation: 45 minutes is three-quarters of an hour, which can be rewritten as the decimal 0.75. Multiply this decimal
by his speed.

QUESTION 5

If a recipe for cookies calls for % of a cup of sugar, and you want to quadruple the recipe, how many cups of sugar will
you need?

A. 3 cups

B. 4 cups

C. 2 % cups

D. 3 % cups

E. 3 ¥ cups
Correct Answer: A

Explanation: The fraction ?is equivalent to the decimal 0.75. Multiply this decimal by 4.
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